
Type : 

Si MINE niv 1

GrandeNaine Petite Moyenne EnormeAstéroïdesTaille

0

0

Stérile

+3+2 +2 +1 +3

+3+2 +2 +2 +3 +3

+3
Si MINE niv 2

Minerais : Natif : Méca
12 2-6 7 11 8

1

2

9-10

1 2 3 4 5

1 2 3 4 5

 Niv 1

 Niv 2+3- +2 +2 +2 +3

6 7 8 9 10

Adaptation

Type : 

Si MINE niv 1

GrandeNaine Petite Moyenne EnormeAstéroïdesTaille

0

0

Gelée

+1+3 +2 +4 +4

+0+3 +1 +2 +3 +2

+2
Si MINE niv 2

Minerais : Natif : Kelvin
2-3 6 7 4-5 8-9

1

2

1 2 3 4 5

1 2 3 4 5

 Niv 1

 Niv 2+1- +2 +2 +3 +2

6 7 8 9 10

Adaptation

10-12

Type : 

GrandeNaine Petite Moyenne EnormeAstéroïdesTaille

0

0

Lave

+2+3 +5 +5 +2

+1+0 +2 +3 +1 +1

+1
Si MINE niv 2

Minerais : Natif : Vulcain
12 2-4 5-7 8-9 10

1

2

1 2 3 4 5

1 2 3 4 5

 Niv 1

 Niv 2+2- +3 +2 +2 +1

6 7 8 9 10

Adaptation

11

Si MINE niv 1


